CONSTRUCTION OF JAYNAGAR(INDIA) BARDIBAS (NEPAL) RAIL LINE PROJECT

TENDER DOCUMENT FOR

"Protection work by providing boulder crating on approaches of Major Bridges on Well Foundation of "Jaynagar-Janakpur section" in connection with construction of new BG Rail line from Jaynagar (India) - Bardibas (Nepal) Rail Line Project".

Tender No: IRCON/PO/TN/JAYNAGAR-2050/21/01

Dated: 28.05.2021

FINANCIAL BID

VOLUME-2

May'-2021

IRCON INTERNATIONAL LIMITED (A Govt. of India Undertaking)

Corporate office IRCON International Limited, C-4, District Center, New Delhi-110017 -India Tel: +91-11-2055289 Fax: +91-11-2055279 Project Office 1st Floor Station Building (Nepal Railway) Jaynagar, Distt. Madhubani (Bihar) -847226, Tele Fax No.:06246222101 Email: - ircon.2050@ircon.org

BILL OF QUANTITIES

NIT No.:		IRCON/PO/TN/JAYNAGAR-2050/21/01,Dated: 28.05.21			
Name of Work:		"Protection work by providing boulder crating on approaches of Major Bridges on Well Foundation of "Jaynagar-Janakpur section" in connection with construction of new BG Rail line from Jaynagar (India) - Bardibas (Nepal) Rail Line Project".			
Name of Bidder:					
Item No.	Description of work	Estimated Cost	% rate quoted by Tenderer		
1	Execution of all item of works as per Schedule-A	55,66,156.1			
Total quoted Cost (In figures)					
Total	quoted cost (In words)				

<u>NOTE</u>

- 1. Rate to be quoted in Indian Rupees.
- 2. %age rates to be quoted in both figures and words.
- 3. Along with percentage the tenderers should also quote either "above" or "below" or "at par".

Signature with stamp of Tenderer Place-

Schedule-A

BILL OF QUANTITIES

Name of Work: "Protection work by providing boulder crating on approaches of Major Bridges on Well Foundation of "Jaynagar-Janakpur section" in connection with construction of new BG Rail line from Jaynagar (India) - Bardibas (Nepal) Rail Line Project".

SCHEDULE-A							
Sr. No.	Description of WORK	Unit	Quantity	Rate (INRS.)	Amount (INRS.)		
1	Earth work in excavation by machine of soft clay & silty soil including disposal up to 10m lead and 1.5 m lift	Cum	460	50.81	23372.6		
2	Earth work filling for construction of embankment by machine with river bed material/locally available borrowed earth in specified layers with watering and proper compaction in each layer including cost of borrwed earth etc. all complete including all lead and lift.	Cum	900	114.59	103131.0		
3	Supply of boulder and filling in gabion boxes including stretching, closing and tying etc. all complete	Cum	1430	2447.22	3499524.6		
4	Supply of 10gauge HZC G.I. wire and making rectangular gabion box double knotted square mesh size 10x10 cm.	Sqm	8600	192.27	1653522		
5	Supply and laying Geo. Textile polyfelt TS 60/50 or Teram 1000 in the slope of embankment before laying gabion boxes.	Sqm	2010	142.59	286605.9		
				Total	5566156.1		